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27
5-2-2(1) (2)
23 27 0.019 0.021ppm
0.019ppm
27 98 0.042ppm
5-2-2(1) 23 27
ppm
23 24 25 26 27
0.021 0.020 0.020 0.019 0.019
23 27
5-2-2(2) 27
0.06ppm 98
0.06ppm
98
ppm ppm
0.019 0 0.0 0.042
27
23 27 5-
2-3
5-2-3 23 27
ppm
23 24 25 26 27
0.027 0.026 0.026 0.023 0.023
23 27
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27

5-2-4(1) (2)
23 27 0.018 0.024mg/ 3 27
0.022mg/ 3
27 0.20mg/ °® 0
0.10mg/ 3 0
2 0.051mg/ 3
5-2-4(1) 23 27
mg/ 3
23 24 25 26 27
0.021 0.018 0.024 0.024 0.022
23 27
5-2-4(2) 27
0.10mg/ 3
0.20mg/ 3 0.10mg/ 3 ’
2 0.10mg/ 3
mg/ ° mg/ 3 < o
0.022 0.0 0 0.0 0.051 o 0
27
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27 5-2-2

27 2.0 /

R (ms)

1) Erhoisid, Rz RL, EOAT—)ViE
W2, 5m/s%&, S 5. O0m/ s ZxRY,

3 = 2. 0m/ s
F—a2¥= 8781

5-2-2 27
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423
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12

50
1.0 /
Q (z-H,Y (z+H,) 5
C(R,z)= 4 | expl ——— |+exp ————||-10
R2) «/2m/8-u-R-chl: p( 20, P 20,
(m) (ppm  mg/m?)
(m)
(m)
(m /s kg/s)
(m/s)
(m)
o (m)
0.5 0.9 /

o) e o i
it =R+ S )

Y
rf =R? +S7(2(z+ H, )
(m) (ppm  mg/m*)
(m)
(m)
(m /s kg/s)
(m/s)
(m)
a,y
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0.4 7/

Q 1 1 6
CRR,z)= . 10
LT S L S
(m) (ppm  mg/m*)
(m)
(m)
(m /s kg/s)
(m)
A,y
5-2-5
10,000

AN

2FIWETEE

.0 100.0

o f

0.1 1.0 1
J&T EERE (km)

5-2-5 P-G-S

12
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5-2-6

5-2-6
0.4 / 0.5 0.9 /
A \V4 (o \V4
0.948 1.569 0.748 1.569
0.859 0.862 0.659 0.862
0.781 0.474 0.581 0.474
0.702 0.314 0.502 0.314
0.635 0.208 0.435 0.208
0.542 0.153 0.342 0.153
0.470 0.113 0.270 0.113
0.439 0.067 0.239 0.067
0.439 0.048 0.239 0.048
0.439 0.029 0.239 0.029
12
i 1 16
(@ ¢
1 16
u/a 1 fo=—)> T,
16 &
3
1 u/a 1.5 f = fi_4+22fi+k+fi+4j/16
k=-3
2
1.5 uv/oa 2 f = fi_3+22fi+k+fi+3j/1z
k=-2
1
2 u/a 3.3 f = fi2+22fi+k+fi+2j/8
k=-1
3.3 u/o 6 f = (F, +2Ff +F, /4
6 u/a f.=F.
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/o 1.5 R u-He/N2y

f = 1f LHe—RJ £ RlLe
{ a(\/_zy + Cl \/_zy

C(R):z Z Z Cl(Di’Uj ’Sk)'fl(DisUj ’Sk)+z Cz(Sk)'fz(Sk)

i k k
() (ppm  mg/m*)
1C i i K i is K
(ppm  mg/m®)
1( i j k) i ] k
2( ©) k (ppm  mg/m*)
2 ©) k
i IE] k
23 27
NO, =2.2632 NOx 0-6691 r=0.947
[NO.] ppb
[NOx] ppb
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23 27

[NO.] =1.5306 [NO;]  0.0103 r=0.835
[SPM] =1.6092 [SPM]  0.0191 r=0.792
[NO:] 98 ppm
[NO-] ppm
[SPM] 2 mg/m?
[SPM] mg/m?
1
1,044 _0kw 0 24 24 174 _0kWw
22 14 8 22 14
366
1
5-2-7
5-2-8
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5-2-7

NOx
0,
KW n*./h 0 0%
ppm m
42.3
51.7
56.4
56.9 5.1 100.0 12.3
49.4
48.0
57.6
87.0 17.1 12.0
39.7
1,044.0" 102.8 16.0
87.0ku=<12
5-2-8

140

305

10
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NOX

SPM
9
0.0071kg/10% 3
26
28 NOX PM
246 120
10km/h 290
1 5-2-9
5-2-10
5-2-6
5-2-11

120



5-2-9 1
kw
(m w/h) (kg/h) (m w/h)
42.3
51.7
56.4
56.9 0.0075 0.00004 89.5 100 12.3m
49.4
48.0
57.6
87.0 0.0034 0.00006 166.8 214.3 12.0m
1,044.0 0.0411 0.00073 2,001.3 214 .3 16.0m
SPM
0.0071kg/10%m®
5-2-10
km
10km/h 10km/h
0.021 0.097
4.489 0.101
26
5-2-11
1,418.9m%,/ 12.9kg/
3.5m%/ 2.2kg/
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